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Exercise 3.3

Q.1  Write the following into sum or
difference log(AxB)

(1) log (A4 xB)
Solution: log(AxB)
log Ax B=log A+log B Ans
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Solution: logE
30.5

15.2
loe——=1log15.2-10og30.5 Ans
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21x5

8
21x5

(iii) log

Solution: log

log%: log(21x5)—1log8

=log21 +log5—1log8 Ans

7
iv log 3}[—
(iv) lo 1/15
Solution: logf/l
15
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lo ;17 =lo (?T
= 15 £ 15
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= ;(log?‘ ~log15)
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= ;log? —;log 1S Ans
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Solution: log~—"

<3
1

(22)°

1
logT =log22° —log5’

= %log 22-3log5 Ans

" 25%97
(vi) log 55
Solution: log ok
29
log T log(25x47)—1og29
=log25+log47 —log29 Ans
Q.2  Express

log x—2log x +3log (x Jrl)—log(x2 —l)as

a single logarithm.
Solution:

logx—2log x +3log(x + I)—l()g()r2 —1)

=log x—logx* +log(x+1)’ - log(f ~ 1)

=log i,}rlog(xf—l)
X x -1

=log
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write the following in the form
of a single logarithm.

log21+log5
Solution: log21+log5S
=log(21x5) Ans

(1)

log25—2log3

Solution: log25—-2log3
=log25—2log3

=log 25—log 3*

(ii)

25
—log = Ans
g 32
(iii)  Zlogx—3logy
Solution: 2logx—3log y
=2logx—3logy

=logx* —logy’
= logx—; Ans
-

(iv)  log5+log6—log2
Solution: log5+log6—log2
=log5+log6—log?2

= log(Sxé)—]ogZ

= Iog% Ans

Q.4

Calculate the following.

(i) log; 2 xlog, 81

Solution: log, 2xlog, 81

L%’,{XlogSI
log3 lpg’f

(i1) log,xlog;, 25

Solution: log;xlog, 25

log 5 log/f
_log25
"~ log5
_log5°

- log 5
21pg?s

logs

=2 Ans

Q5 If log2=0.3010,log3=0.4771
and log5=0.6990, then find the

values of the following.

log32
=log 22

*+ using 3" law of logarithm
=5log?2
By putting the value of log2
=5(0.3010)
=1.5050 Ans

(i1) log 24

Solution: log 24

:log(Z3 ><3)

=log?2’ +log3

=3log2+log3

By putting the value of log2 and log3
=3(0.3010)+0.4771

=0.9030+04771
=1.3801 Ans

1
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(i) og =
i 1
Solution: log!pg
:log[ﬁjg
3

https://mww.facebook.com/Eilmcompk-100734965945502



https://eilm.com.pk/ Distance Learning, Access, And

Opportunity: Equality And E-Quality

_Liog[ 225
2 & 3

= %(10g2+ log5—log3)
By putting the values of log2,log3 and
log5

= %(0,301 0+0.69900 — 0.4?71)

1
=—(1-0.4771
L(1-04771)

1
=—(0.5220
£ (05229)

=0.26145 Ans

(iv) ]ogg
Fa |

. 8
Solution: log—
2

23
=log—
=log2’ —log3
=3log2—-log3
By putting the values of log2 and log3
= 3(0.30102)—0,477]

=0.9030-0.4771
=0.4259 Ans

(v) log 30
Solution: log30
== log(Sx 2 x 3)

-+ using first law of logarithm

=logS5+log2+log3

By putting the values of log2,log3 log5
=(0.6990)+(0.3010)+(0.4771)
=1.4771 Ams

N
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